Economics 330
Spring 2003

Answers to Practice Problems for Final


1. By Md=Ms, we have r=20-2Ms. Using this and Y=C+I+G+NX, we get Yad=67-P+(1/0.9)Ms. Yad=Yas gives 2P=67+(1/0.9)Ms. Since Ms=9, P=38.5.

2. The money multiplier is (1+0.3)/(0.1+0.2+0.3)=2.16. Thus the increase in Ms due to the increase in MB by 10 is 2.16*10=21.6. The resulting Ms is 9+21.6=30.6. Using 2P=67+(1/0.9)Ms, we get P=50.5.

3. Currency outstanding, C, is equal to Ms-D=400-150=250. Using R=RR*D+ER, we get RR=0.133. So the money multiplier is (1+1.67)/(0.133+0.133+1.67)=1.38.

4. Suppose the price level rises. Other things being equal, real money balance decreases and then the interest rate increases, which reduces investment. Moreover, consumption falls if the price level increases, ceteris paribus. So aggregate demand falls. That is why AD curve is downward sloping.

5. See the textbook (ch.21).

6. See the textbook (p397).

7. {(100-98)/100}*(360/60)=0.12.

8. NW ratio is 60/110=0.545. D/E ratio is 50/60=0.63. Gap=60-30=30. So the change in the bank’s profit is 30*(0.06-0.04)=0.6.

9. Since gap is zero, the change in the bank’s profit is also zero according to gap analysis. Percent change in market value of FR assets is –(0.05-0.1)*2=0.1 and percent change in market value of FR liabilities is –(0.05-0.1)*4=0.2. Thus the resulting net worth is 1.1*100-1.2*50=110-60=50.

10. Let x be a proportion of Asset 1 in your portfolio and 1-x be a proportion of Asset 1 in your portfolio. Given x, the return of your portfolio in state A is $50x+80(1-x) and the return of your portfolio in state B is $100x+40(1-x). It must be the case that 50x+80(1-x)= 100x+40(1-x), in order for the standard deviation of the portfolio to be zero. So x=4/9. 

11. See p392.

12. See p392.

13. See the answer for problem #4 of week 9 questions, which is on the web.

14. See p107.

15. The nominal interest rate for the first period, i1, is obtained by solving Fisher equation, 0.1=i1*(1-0.1)-0.05. So i1=0.17. The nominal interest rate for the second period, i2, is obtained by solving 0.15=i2*(1-0.2)-0.1. So i2=0.31. Price = 400/(1+0.17)+(400+2000)/(1+0.17)(1+0.31)=341.88+1565.86=1907.74.

16. 600-discount loan=200. So discount loan is 400.

17. 2=200/(equity capital). So equity capital is 100.

18. 1.5=300/(equity capital). So equity capital is 200.

19. 0.04=400/(total assets). So total assets are 100,000.

20. 0.1*5=0.5.

21. Due to the decrease in government spending, AD curve shifts to the left. Due to the development of the new technology, AS curve shifts to the right. So the equilibrium price falls while the equilibrium output level is indeterminate
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